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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY-FIVE questions printed both in HINDI and in ENGLISH.
All the questions are compulsory.
The number of marks carried by a question/part is indicated against it. "
Answers must be written in the medium authorized in the Admission Certificate which must be stated clearly on
the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No marks will be given for answers
written in a medium other than the authorized one.
Word limit in questions, wherever specified, should be adhered to.
Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly struckoff...
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Answer all the questions in NOT MORE THAN 150 words each. Contents of the answer are more important than
its length. All questions carry equal marks.
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To what extent has the urban planning and culture of the Indus Valley Civilization provided inputs to the
present day urbanization ? Discuss.

Q2. YR Ffclsholl AATHAATTHAT T 3ceit 1 ol & Sicwstt foh ag Faaiarat & &Y | T v
Gandhara sculpture owed as much to the Romans as to the Greeks. Explain.

Q3.  daIfRrer favafacarerd fava & yrheds favafacarerdl # € v o1 foas ary fafde= Risfor-fasi
(FSRafawa) & 3 faward faeari safddea Geafeud & | 38! 0TI AareAfa & HROT 3qe!
et Welt, AfereT Areleer & faudid, 39 meyfas dfAvra & . farafaearery #e @@= Siar | ==t
AT

Taxila university was one of the oldest universities of the world with which were associated a number of
renowned learned personalities of different disciplines. Its strategic location caused its fame to flourish,
but unlike Nalanda, it is not considered as a university in the modern sense. Discuss.

Q4. T T RT gE 1761 H ofST a1 AT | 4T HRUT & foh Sclall 3HTeeh AT -Fehtl FSISAT Tleiaed &
CEIKIER i

The third battle of Panipat was fought in 1761. Why were so many empire-shaking battles fought at
Panipat?

Q5 I IR ACTHCNA TEIAre) g oV (Ha) fewg/ HAHTT Htell & enfeen faani, 3R dfcrt < a1
3eTeh ST TLTAT h GHTC HIHAT o KA et 3 fathel 18 | feoqolt | Hifsro|

Sufis and medieval mystic saints failed to modify either the religious ideas and practices or the outward

structure of Hindu/Muslim societies to any appreciable extent. Comment.

Q6. HRd H 36Rgdl Udledl & LT F Tl d& 3 & e At & AfeT gait
HATAIATCHS G hHifST|

Examine critically the various facets of economic policies of the British in India from mid-eighteenth
century till independence.

Q7. T 9RT ¥ SiFe fagie 9a & 39S A 3afaafRies Agccareniamait $r aa-afeesr & o0l 3ifaa

Tl |1 g3 2T ?
"In what ways did the naval mutiny prove to be the last nail in the coffin of British colonial aspirations in
India ?

Q8.  fava # ufed la-dr Fea Tsiiicr, 3T 3iR: aranfores afafaferdt o s & sufader-fare (d&-
Floilferzrel) TEy FI 9k frar 2

What were the major political, economic and social developments in the world which motivated the anti-
colonial struggle in India ?

Q9. 1956 H TIST Hehc Sl UeT Fle aTell TeATT T 2T ? 30 Uah faeg ATFd & F9 H feeT T IcA-Bla W
5 9o 3ifas 9 fohar ?

What were the events that led to the Suez Crisis in 1956 ? How did it deal a. final blow to Britain's self-
image as a world power?

Q10. oifetet S a7 e sAifet - 1921 F TaATAT o 2T TRAT HRA SART HYATS 318 ATl ol T fohar
T | FHedTehel HITAT |

The New Economic Policy - 1921 of Lenin had influenced the policies adopted by India soon after

independence. Evaluate.
Qll. ¥R H Ueh HEIH-TINT HrHhToI HGeT hT Iafeic i e (ATE31mehi) forg Jepr wenifad et

How does patriarchy impact the position of a middle class working woman in India?
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Q12. AT HROTE foh 0 & Fo 3caiersh G gelt 7 Afgensit & fov ufcrger S-9e 31eqdrd § ? 319e
T qer AT |

Why do some of the most prosperous regions of India have an adverse sex ratio ® for women? Give your
arguments.

Q13.  HYFA IRAR HT et =5k FHTTI Hedl & Tl 1Tk HRe IR FIR g | == Hifsw)

The life cycle of a joint family depends on economic factors rather than social values. Discuss.

Q14. ﬁ@ﬁfﬁmmﬁ?mﬁmﬁgﬁaﬁwwaﬁﬁmﬁwﬁfﬁimgm
FOART L EI

Discuss the various economic and socio-cultural forces that are driving increasing feminization of
agriculture in India.

Q15. YHTARUETAT R ARAT dle-fadre, 9ias & die-faare) & ol R ffiea g ?
How do the Indian debates on secularism differ from the debates in the West ?

Ql6. AT TIdrId! GeaT3il H T TR TA-A1AT YHTG & GROMH & diX 9T TGS T SATdT & | 37 31T
TEATE ?

Most of the unusual climatic happenings are explained as an outcome of the El-Nino effect. Do you

agree?
Ql7. T HRUT g [ AR T Ifcid 9dd (Bless ASecdd) dF AGIEATar & AN oh TTT-A1Y AT ¢ ?
aford gddi & 3fRaeh faaRor X sl va SaTem i@ & die Qe I 3SR Hifav|

Why are the world's fold mountain systems located along the margins of continents ? Bring out the
association between the global distribution of fold so mountains and the earthquakes and volcanoes.

Q18.  3STAATS 3R Mefordistr garaaegg # Rt gdt & faverst & sarear Hifaw|
Explain the formation of thousands of islands in Indonesian and Philippines archipelagos.

Q19. IUTRieSHT Tshard Jifteerd: afal @i anR, same H @ AR AfFadr H @S g &
AREIAAT @A E | T FATE 2
Tropical cyclones are largely confined to South China Sea, Bay of Bengal and Gulf of Mexico. Why?

Q20. Ww-ma@wﬁaﬁgé%mﬁ%ﬂaﬁﬁ(vﬂﬁmﬁ) 3R STorarg g & &I & dr
HFIH 35TER ST

Bring out the relationship between the shrinking Himalayan glaciers and the symptoms of climate change
in the Indian sub-continent.

Q21. Sdfh 33ST IRTA-Af of 39HF & oA 92T d Rarfors gdaaren iR @t ffarea & arer-
Wwwﬁﬁamqqﬁmﬁéaﬁﬁwmﬁwwaﬁy | Tose HifaT] .

Whereas the British planters had developed tea gardens all along the Shivaliks and Lesser Himalayas from
Assam to Himachal Pradesh, in effect they did not succeed beyond the Darjeeling area. Explain.

Q22. AT HROT § foh 91X A g shifcd &l ge=r # 3atah #7er 3N STor T AT IUTstar & drasg,
3T H 3HY T Y 3T Toehol 75 2

Why did the Green Revolution in India virtually by-pass the eastern region despite fertile soil and good

availability of water?
Q23. fava # cile va sEuTa 35T & Fifas ufawd # aRade &l [daor S|
Account for the change in the.spatial pattern of the Iron and Steel industry in the world.

Q24. T3AT & OIS Hhe T TAUes & foIT AGRARRT & [affiest Gary=t, [t 3uAeT fohar ST Thar g, Fr

HTelTeIelTcHe HedTehe] SHIToTT|
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Q25.

Critically evaluate the various resources of the oceans which can be harnessed to meet the resource crisis
in the world.

3R T fcteh HHTEIST HE IShIehT oh JHTTeh &1 7 SR 39T T TUT SEAT g ?

How does India see its place in the economic space of rising natural resource rich Africa?
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